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This Question Paper consists of 30 questions and 11 printed pages.

Bg ‡ÌZ-nÃ _| 30 ‡ÌZ VWm 11 _w{–V n•> h¢ü&
Code No.

H$moS> Zß0 56 / HIS / 2

BI OL OGY (Theory)

Ord{dkmZ ({g’m›V)
(314)

Day and Date of Ex am i na tion ..................................................................................

(narjm H$m {XZ d {XZmßH$)
Sig na ture of Invigilators 1. ............................................................................................

({ZarjH$m| Ho$ hÒVmja)
2. ............................................................................................

Gen eral In struc tions :

1. Candidate must write his/her Roll Number on the first page of the Question

Paper.

2. Please check the Question Paper to verify that the total pages and total number

of questions contained in the Question Paper are the same as those printed on

the top of the first page. Also check to see that the questions are in sequential

order.

3. Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

4. Write your Question Paper Code No. 56/HIS/2, Set u on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish,

you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,

Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,

Kashmiri, Sanskrit and Sindhi.

You are re quired to in di cate the lan guage you have cho sen to an swer in the

box pro vided in the An swer-Book.

(b) If you choose to write the answer in the language other than Hindi and

English, the responsibility for any errors/mistakes in understanding the

questions will be yours only.
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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH´$_mßH$ AdÌ` {bI|ü&

2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ ‡ÌZ-nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$
g~go D$na N>nr h°ü& Bg ~mV H$s Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&

3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH´$_mßH$ {bIZo na narjmWu
H$mo A`moΩ` R>ham`m Om òJmü&

4. AnZr CŒma-nwpÒVH$m na ‡ÌZ-nÃ H$m H$moS> Zß0 56/HIS/2, goQ> u {bI|ü&

5. (H$) ‡ÌZ-nÃ Ho$db {h›Xr/AßJ´oOr _| h°ü& {\$a ^r, `{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm _| CŒma Xo
gH$Vo h¢ Ö

AßJ´oOr, {h›Xr, CXy©, nßOm~r, ~ßJbm, V{_b, _b`mb_, H$fiãS>, VobwJy, _amR>r, C{ãS>`m, JwOamVr,

H$m|H$Ur, _{Unwar, Ag{_`m, Zonmbr, H$Ì_rar, gßÒH•$V Am°a {g›Yrü&

H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢, Vmo ‡ÌZm| H$mo g_PZo _| hmoZo
dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar Ho$db AmnH$s hmoJrü&
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BI OL OGY (The ory)

Ord{dkmZ ({g’m›V)

(314)

Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of 30 questions.

(ii) All questions are compulsory.

(iii) Marks for each question have been indicated against it.

(iv) Each question from Question Nos. 1 to 8 has four alternatives—(A), (B),

(C) and (D), out of which one is most appropriate. Choose the correct

answer among the four alternatives and write it in your answer-book

against the number of the question. No extra time is allotted for

attempting multiple-choice questions.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| 30 ‡ÌZ h¢ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ AßH$ CgHo$ gm_Zo Xem©̀ o J ò h¢ü&

(iv) ‡ÌZ gßª`m 1 go 8 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(A), (B), (C) Am°a (D) {X ò J ò h¢,
{OZ_| EH$ gdm©{YH$ C{MV h°ü& Mmam| {dH$Înm| _| go ghr CŒma Mw{Z ò VWm AnZr CŒma-nwpÒVH$m _|
‡ÌZ gßª`m Ho$ gm_Zo {b{I`oü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {b ò A{V[a∫$ g_` Zht {X`m Om`oJmü&

1. A male infant was born with an extra X chromosome. The infant was

pronounced to be

(A) Klinefelter (B) Turner

(C) Mon gol (D) Transgender 1

EH$ ZdOmV ~mbH$ _| O›_ go hr EH$ A{V[a∫$ X JwUgyÃ _m°OyX Wmü& ~mbH$ _| {d⁄_mZ {dH$ma
Mw{ZEü&

(A) äbmBZo\o$ÎQ>a (B) Q>Z©a

(C) _ßJmob (D) Q¥>mßgOo›S>a

314/HIS/106A 3 [ P.T.O.
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2. Which of the following is a true fish? 1

(A) Dog fish (B) Star fish

(C) Silverfish (D) Jel ly fish

{ZÂZ{b{IV _| go H$m°Z-gr EH$ `WmW© _N>br h°?

(A) S>m∞J{µ\$e (B) ÒQ>ma{µ\$e

(C) {gÎda{µ\$e (D) Oo{b{µ\$e

3. Pick the odd one out : 1

(A) Night blind ness (B) Scurvy

(C) Xerophthalmia (D) Col our blindness

{ZÂZ{b{IV _| go ~o_ob Mw{ZE Ö

(A) aVm¢Yr (B) ÒH$du

(C) µOramo‚W°pÎ_`m (D) dUm™YVm

4. Identify the modification to which runner, stolon and sucker belong : 1

(A) Aerial modification of stem

(B) Subaerial modification of stem

(C) Underground modification of stem

(D) Underground modification of root

Cg Í$nmßVaU H$mo Mw{ZE, {OgHo$ AßVJ©V Cn[a^yÒVmar (aZa), ^yÒVmar (ÒQ>mobmoZ) Am°a MyfH$ (gH$a)
AmVo h¢ Ö

(A) VZo H$m dm`{dH$ Í$nmßVaU

(B) VZo H$m ^yn•>r` Í$nmßVaU

(C) VZo H$m ^y{_JV Í$nmßVaU

(D) OãS> H$m ŷ{_JV Í$nmßVaU
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5. Identify the narrow spectrum antibiotic : 1

(A) Tet ra cy cline (B) Chloramphenicol

(C) Strep to my cin (D) Erythromycin

gr{_V ‡`moJ (Z°amo ÒnoäQ¥>_) dmbo E|{Q>~m`mo{Q>H$ H$mo Mw{ZE Ö

(A) Q>oQ¥>mgmBpäbZ (B) äbmoa°Âµ\o${ZH$m∞b

(C) ÒQ¥>oflQ>mo_mB{gZ (D) E[aW´mo_mB{gZ

6. Apomixis is

(A) development of plants without fusion of gametes

(B) development of plants in darkness

(C) mixing of characters due to fusion of gametes

(D) effect of low temperature on flowering 1

AgßJOZZ H$m AW© h°

(A) ẁΩ_H$m| Ho$ gß̀ moOZ Ho$ {~Zm nm°Ym| H$m ~ZZm

(B) AßYoao _| nm°Ym| H$m ~ZZm

(C) ẁΩ_H$mßo Ho$ gß̀ moOZ Ho$ H$maU bjUm| H$m {_b-Owb OmZm

(D) {ZÂZ VmnH´$_ H$m nwÓnZ na ‡^md

7. Identify the starch containing bodies which are integral part of the

chloroplasts in green algae : 1

(A) Gly co gen (B) Pyrenoid

(C) Carotenoid (D) Cel lu lose

CZ ÒQ>mMu qnS>m| H$mo Mw{ZE, Omo hao e°dmbm| Ho$ h[aVbdH$m| (äbmoamoflbmÒQ>m|) Ho$ A{Zdm ©̀ Aße hmoVo h¢ Ö

(A) ΩbmBH$moOZ (B) nm`arZm∞BS>

(C) H°$am∞{Q>Zm∞BS> (D) gobwbmoµO

314/HIS/106A 5 [ P.T.O.
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8. Which one of the following is not a turgor movement? 1

(A) Flowers of Portulaca bloom during the day and the petals close at

sunset

(B) Opening and closing of stomata

(C) Mimosa pudica droops when touched

(D) Leaf closes in the Venus flytrap when the insect enters

{ZÂZ{b{IV _ooß go H$m°Z-gr Ò\$s{V J{V Zht hmoVr?

(A) nmoQy>©b°H$m Ho$ nwÓnm| H$m {XZ _| {IbZm VWm gyaO {N>nZo na nßIw{ãS>`m| H$m _waPm OmZm

(B) aßY´moß H$m IwbZm VWm ~ßX hmoZm

(C) Ny>Zo na _mB_mogm nw{S>H$m H$m _waPm OmZm

(D) H$sQ> Ho$ ^rVa ‡doe H$aZo na drZg ‚bmBQ¥>°n H$s n{Œm`m| H$m ~ßX hmo OmZm

9. List any four advantages of biodiesel. 2

O°dS>rµOb Ho$ H$moB© Mma bm^ ~VmBEü&

10. Name the respiratory organs of (a) cockroach and (b) earthworm. 2

(H$) {VbM≈>m Edß (I) H|$MwAm Ho$ ÌdgZ AßJm| Ho$ Zm_ ~VmBEü&

11. Distinguish between a test cross and a reciprocal cross. 2

gßH$aU (narjmW© H´$m∞g) Am°a Ï ẁÀH´$_ gßH$aU _| AßVa ~VmBEü&

12. State two points of difference between innate immunity and acquired

immunity. 2

ghO ‡{Vajm Am°a Cnm{O©V ‡{Vajm Ho$ Xmo ~mVm| _| AßVa ~VmBEü&

13. Name the parts of the brain which carry out the following functions : 2

(a) Maintain balance of body

(b) Carry out reflexes below the neck

(c) Carry out mental activities of thinking, reasoning, memorizing, etc.

(d) Control heartbeat and other involuntary actions

314/HIS/106A 6
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_pÒVÓH$ Ho$ CZ ^mJm| Ho$ Zm_ ~VmBE, Omo {ZÂZ{b{IV H$m`m] H$mo gßnfi H$aVo h¢ Ö

(H$) eara H$mo gßVw{bV ~ZmE aIZm

(I) JX©Z Ho$ ZrMo H$s ‡{VdVu {H´$`mAm| H$mo {H´$`mp›dV H$aZm

(J) gmoMZm, {ddoMZ H$aZm VWm `mX aIZm, Am{X {X_mJr {H´$`mH$bmnm| H$mo {H´$`mp›dV H$aZm

(K) ˆX` ÒnßXZm| VWm A›` AZ°p¿N>H$ {H´$`mAm| H$mo {Z ß̀ÃU H$aZm

14. A pregnant woman has to feed her developing embryo, therefore she needs

extra nutrients in her diet. List any four dietary requirements of a pregnant

woman. 2

EH$ J ©̂dVr _{hbm H$mo AnZo n[adY©_mZ ^ýU H$mo ^aU-nmofU XoZm hmoVm h°, AVÖ Cgo AnZo Amhma
_| A{V[a∫$ nmofU nXmWm] H$s AmdÌ`H$Vm hmoVr h°ü& J^©dVr _{hbm H$s Amhma gß~ßYr {H$›ht Mma
AmdÌ`H$VmAm| H$s gyMr ~ZmBEü&

15. (a) Give any three adaptations found in flowers to promote cross-

pollination.

(b) Give any one adaptation to ensure self-pollination in flowers. 2

(H$) nwÓnm| _| na-namJU H$mo ~ãT>mdm XoZo Ho$ {bE nmE OmZo dmbo {H$›ht VrZ AZwHy$bZm| H$s MMm©
H$s{OEü&

(I) nwÓnm| _| Òd-namJU gw{ZpÌMV H$aZo Ho$ {bE H$moB© EH$ AZwHy$bZ ~VmBEü&

16. With the help of a flowchart, list the steps involved in the coagulation of

blood. 2

È{Ya ÒHß$XZ ‡{H$`m _| {Z{hV MaUm| H$s ‡dmhMmQ>© H$s ghm`Vm go EH$ gyMr ~ZmBEü&

17. List the four steps to summarize the process of energy flow in a food chain. 2

EH$ Im⁄ ˚m•ßIbm _| D$Om©-‡dmh ‡{H´$`m H$m gßjonU H$aZo Ho$ {bE Mma MaUm| H$s gyMr ~ZmBEü&

314/HIS/106A 7 [ P.T.O.
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18. Draw neat and labelled diagrams to show the main difference between

epigeal germination and hypogeal germination. 2

Om`mßJmon[aH$ AßHw$aU Am°a AYmoOm`mßJr AßHw$aU _| ‡_wI AßVa Xem©Zo Ho$ {bE Òd¿N> Am°a Zm_mß{H$V
AmaoI ~ZmBEü&

19. With the help of sketches and appropriate examples, distinguish between

the following pairs : 2

(a) Corymb and Umbel

(b) Axile and Parietal placentations

{MÃm| Am°a Cn ẁ∫$ CXmhaUm| g{hV {ZÂZ{b{IV ẁΩ_m| _| AßVa ~VmBE Ö

(H$) g_{eI (H$mo[aÂ~) Am°a nwÓnN>Ã

(I) Ajr` Am°a {^Œmr` ~rOmßS>›`mg

20. (a) What is soil erosion?

(b) List any three anthropogenic causes of soil erosion. 2

(H$) _•Xm AnaXZ ä`m hmoVm h°?

(I) _•Xm AnaXZ Ho$ {H$›ht VrZ _mZdO›` H$maUm| H$s gyMr ~ZmBEü&

21. (a) What is leghemoglobin? How is it synthesized? Give its function.

(b) Briefly explain the process of nitrogen fixation in nature. 4

(H$) boJhr_moΩbmo{~Z ä`m hmoVm h°? BgH$m gßÌbofU {H$g ‡H$ma hmoVm h°? BgHo$ H$m ©̀ ~VmBEü&

(I) ‡H•${V _| ZmBQ¥>moOZ pÒWarH$aU ‡{H´$`m H$m gßjon _| dU©Z H$s{OEü&

22. (a) (i) State the meaning of sustainable development.

(ii) Mention any four activities which will help in sustainable

development.

(b) Define the term ‘endangered species’. Give an appropriate example. 4

314/HIS/106A 8
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(H$) (i) gVV nmofUr` {dH$mg Ho$ AW© H$s Ï`mª`m H$s{OEü&

(ii) {H$›ht Mma {H´$`mH$bmnm| H$s MMm© H$s{OE, Omo gVV nmofUr` {dH$mg _| _XX H$aVr h°ßü&

(I) "gßH$Q>mnfi ÒnrerµO' erf©H$ H$s n[a^mfm {b{IEü& EH$ Cn ẁ∫$ CXmhaU Xr{OEü&

23. How is the DNA molecule packaged in an eukaryotic chromosome? 4

EH$ gwH|$–r` JwUgyÃ _| DNA AUw {H$g ‡H$ma gßdo{Ô>V hmoVm h°?

24. (a) With the help of diagrams, explain binary fission in Amoeba.

(b) Draw a neat diagram of a nerve cell and label the following :

Perikaryon, axon, node of Ranvier, dendrite 4

(H$) AmaoIm| H$s ghm`Vm go A_r~m _| {¤{d^mOZ H$s Ï`mª`m H$s{OEü&

(I) Vß{ÃH$m H$mo{eH$m H$m EH$ Òd¿N> AmaoI ~ZmBE VWm {ZÂZ{b{IV ^mJmoß H$m Zm_mßH$Z H$s{OE Ö

noarH°$arAm∞Z, Vß{ÃH$mj (Eägm∞Z), aoZ{d`a nU©, –˛{_H$m

25. Answer the following questions : 4

(a) Name the gall-producing bacteria which can be used to produce

transgenics.

(b) Define the term ‘bioremediation’.

(c) State the main objectives of vaccination.

{ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE Ö

(H$) Cg {n{Q>H$m (Jm∞b) CÀnmXH$ ~°äQ>r[a`m H$m Zm_ ~VmBE, {Ogo nmaOr{Z`m| Ho$ CÀnmXZ Ho$ {bE
‡ ẁ∫$ {H$`m Om gH$Vm h°ü&

(I) "O°d CnMmaU' erf©H$ H$s n[a^mfm {b{IEü&

(J) Q>rH$mH$aU Ho$ ‡_wI C‘oÌ` ~VmBEü&

314/HIS/106A 9 [ P.T.O.
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26. (a) Draw a neat and labelled diagram of the longitudinal section of

an ovule in an angiosperm.

(b) How is an endosperm formed? 4

(H$) EH$ E|{O`moÒn_© Ho$ ~rOmßS> H$s AZwX°ø ©̀ H$mQ> H$m Òd¿N> Edß Zm_mß{H$V AmaoI ~ZmBEü&

(I) ^ýUnmof (EßS>moÒn_©) {H$g ‡H$ma ~ZVm h°?

27. (a) What are meristematic tissues? Name the types with their location.

(b) Based on their habitats, distinguish between methanogenic and

thermoacidophilic bacteria.

(c) Distinguish between androecium of China rose and Pea. 6

(H$) {d^¡`moVH$ D$VH$ ä`m hmoVo h¢? CZHo$ ‡H$mam| Ho$ Zm_ VWm CZHo$ nmE OmZo Ho$ ÒWmZ ~VmBEü&

(I) n`m©dmgm| Ho$ AmYma na _rW°ZmoOZH$ Am°a Vmn-AÂbamJr ~°äQ>r[a`mAm| _| AßVa ~VmBEü&

(J) JwãS>hb Am°a _Q>a E|S¥>mo{g`_ _| AßVa ~VmBEü&

28. (a) Draw a neat diagram of the excretory organs in humans and label the

following :

Kidney, ureter, urethra, urinary bladder

(b) Distinguish among ammonotelic, ureotelic and uricotelic with

appropriate examples. 6

(H$) _mZdm| Ho$ CÀgO©Z AßJm| H$m EH$ Òd¿N> AmaoI ~ZmBE VWm Cg_| {ZÂZ{b{IV H$m Zm_mßH$Z
H$s{OE Ö

d•∏$, _yÃdm{hZr, _yÃ_mJ©, _yÃme`

(I) Cn ẁ∫$ CXmhaUm| g{hV A_mo{Z`m-CÀgJu, ỳ[a`m-CÀgJu Edß ỳ[aH$mÂb-CÀgJu ‡m{U`m| _| AßVa 
~VmBEü&

314/HIS/106A 10
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29. (a) Draw a neat diagram of the female reproductive system in humans and 

label the following parts :

Uterus, ovary, cervix, vagina

(b) Where do fertilization and implantation take place in the above system?

(c) Name the two female hormones.

(d) State and define the surgical method of birth control in females. 6

(H$) _mZdm| Ho$ _mXm OZZVßÃ H$m EH$ Òd¿N> AmaoI ~ZmBE VWm Cg_| {ZÂZ{b{IV ^mJm| H$m
Zm_mßH$Z H$s{OE Ö

J^m©e`, AßS>me`, J´rdm, `mo{Z

(I) Cn ẁ©∫$ VßÃ _| {ZfoMZ VWm AßVam}nU H$hm± hmoVm h°?

(J) Xmo _mXm hm∞_m}Zm| Ho$ Zm_ ~VmBEü&

(K) _mXmAm| _| gßV{V-{ZamoY H$s gO©ar-{d{Y H$s n[a^mfm ~VmVo h˛E MMm© H$s{OEü&

30. (a) Explain the biosynthetic phase of photosynthesis with the help of a

diagram. Where does this phase take place in plants and what is the

main product formed?

(b) Distinguish between C3 and C4 photosynthesis with respect to (i) CO2

acceptor and (ii) first product of carboxylation. 6

(H$) EH$ AmaoI H$s ghm`Vm go ‡H$me-gßÌbofU H$s O°d-gßÌbofr ‡mdÒWm H$s Ï`mª`m H$s{OEü&
nm°Ym| _| `h ‡mdÒWm H$hm± hmoVr h° VWm BgHo$ ‡_wI CÀnmX ä`m hmoVo h¢?

(I) (i) CO2 J´mhr Am°a (ii) H$m~m}pägbrH$aU Ho$ ‡W_ CÀnmX Ho$ gßX ©̂ _| C3 Am°a C4

‡H$me-gßÌbofU _| AßVa ~VmBEü&

H H H
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